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Q1

G.2

Q3

Q4

Q.5

Atropical cyclone is a .

(@) low-pressure zone thal occurs in the
northern hemisphere only

(b) high-pressure zone wilh high winds

{c} zone of low pressure with clockwise winds
in the nonhern hemisphere !

(d) zane of low pressure wilh anliclockwise
winds in the northern hemisphere

Orographic precipitation oceurs due lo air
masses being lilled to highar alliludes by

(a) the densily dilference of air masses

{b) afronial action ‘

{c) the presence of mountain bariers

{d) extatropical cyclones

Variability of annual rainfall in India is
{a) leastin rogions of scanty rainfall
{b) largestin regions of high rainfall
{c) leastin regions of high rainfall
(d) largestin coastal areas

The following recording raingauge does not
produce the mass curve ol precipitation as a
record

(@) Symon'sraingauge

{b) Tipping-buckel lype rain gauge

(c) Weighing-buckel lype rainguage

(d) Malwural siphon gauge

The monthly rainlall al a place A during

Seplember 1982 was recorded as 55 mm above

normal. Here, Ihe term normal means

(@) therainfallinine same monthinthe previous
year

{b) e rainfall was normally expecled based
on previous monih's data
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{c) theaverage rainfall computed from past 12
maonih's record .

{d) Theaverage monthly rainfall for Seplember
compuled from a specilic 30 years of past
record

The Thiessen polygon is

{a) a polygon oblained by joining adjoining
raingauge stations

(b} arepresenlative area used for weighting the
observed siation precipitation

(c} anarea used in the conslruction of depth-
area curves

(d} the descriptive term {or the shape of a
hydrograph

An isohyet is a lIne joining points having
(a) egual evaporation value

(b) equal baromelric pressure

(c) equal height above lhe MSL

{d) equal rainfall dapthin a given duration

By DAD analysis the maximum average depth
over an area of 107 km? due Lo one day storm is
lound lo be 47 cm. For the same area (he
maximum average depth lor a three day storm

~ can be expecled lo be

(8) <47cm
{b) >47cm
{c) =47 cm
{d) inadgquate informalion 1o conclude

Depth-Area-Duration curves ol precipitation are

drawn as

(a) minimizing envelopes through the
appropriale dala points

(b) maximizing cnvelopes through the
appropriate dala points

Q.10

Q.11

Q.12

Q.13

Q.14

{c) besliitmean curves through the appropriate
dala points

{d) bestlitslraight ines through the appropriate
dala points

A study of the isopluvial maps revealed 1hat at
Calcutta amaximum rainfall depth of 200 mmin
12 h has a return period of 50 years. The
probabilily of & 12 h cainfall equal lo or greater
than 200 mm occurdng at Calculla at (zast once
in 30 years is

{a) 045 {b) 0.60

(c} 056 (@) 10

A 6 h rainfall of 6 cm a1 a place A was found to
have a return period of 40 years, The probability
that as a 6h rainfall of Ihis or larger magnitude
will ocour at least ence in 20 successive years
is

(@) 0.397
{c) 0308

(o) 0603
(@) 0025

The probability of a 10cmrain in 1 hour occuming
at 2 slation &8s lound 10 be 1/60. What is the
probability that a § hour rain ol magnitude 10 cm
or larger will occur in siation B once in 30
successive years is
(@) 03%

(c) 0604

{b) 0.307
(d) 0.500

A one day rainfall of 18 hours at Stalion Cwas
found 1o have a return period of 50 years. The
probiabilily that a one-dayrainialf of this or larger
magnilude will not occur a station Cduring next

S0yearsis
@) 0636 by 0.020
() 0.364 (d) 0.371

It the maximum depth of a 50 years 15 h rainfall
depth al Bhubaneshwar is 260 mm, the 50 yeas
3 h maximum rainfall depth a1 the same placeis
(@) <260mm

) =250mm

€} =260mm

{d) inadeguate date lo conclude anything

Q.15 The probable maximum depth of precipilaﬁan

over acalchmant is given by the relation PMP=
@ Pika {0) Pike

© Pexp(-KA") (&) P

Malch List-l {Hydrological Terms) with List-lt
{Relationship/Nalure of Curve) and selecl the
correct answer using the codes given below the
fists:

Listl
A. Theissen Polygon
B. MassCurve
C. Hyelograph
D. DADcurve
List-It ‘
Average dapth ol 7ainfall over an area
Relationship of rainfall intensily and time’
Reiationship of accumutated rainfall ari‘id
time o
4. Relationship of river run-off and fime
5. Ahways a falling curve
Codes:

#3

W

A BCD
faj 1 3 2 5
by 1 5 3 2
€ 4 3 2 5
d 4 5 3 2

In 2 watershed, four rain gauges 1, 11, il and %
areinstalied. The depths of normal annual rainfatl
at these stations are 60, 75, 80 and 100 om
respectively.

The rain gauge at sfation 1l went out of order
during a particular year. The annual rainfall for
thatyear recorded al the remaining three stations
was 90, €0 and 70 cm. The rainfall atisiation I
canbe considered as

@) 60cm {b} 70cm

{c) 80cm {dy 120cm

Match List-l {Hydrological Tarms} with List-li
{Relationship/Nalture of Curve) and select the
carrect answer using the codes given betow the
hists:
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List!
. Conveclive
Cyclonic
Frontal
Orographic
Listil
Atmospheric disturbance
Mountain barrier
Pressure difference
Temperalute dillerence
. Warmand cold air masses
Bs:

pomy

-

N

A BCD
@ 1

o) 4
ey 1
g 4
The area between the two isohyets 45 cm and
55 cmis 100km?, and that baiween 55 cm and
65 cmis 150 km?. Wha! s the average deplh of

4
3
4 2 8§
3

: annual precipitation over the basin of 250 kr#7
.- (8} 50cm
-{c) s6cm

{b) 52cm
(@} s3cm

i’hu normat annual precipitation at stalions X, A,
Bang C are 700 mm, 1000 mm, 900 mm and

"' 800 mm respectively. If the starm precipitation
' ‘althreasialion A, Band Cwere 100mm, 80 mm

a2

and 80 mm respeclively, then the storm

precipilalion for station X will be
{a} 70mm {b} 80mm
{c} e0mm {d) 105mm

The maximum average deplh due lo one day

* stormover anarea of 100km?is 100mm. Depih-
"+ ‘Arga-Duration {DAD] curves indicate Ihat for the

Q.22

same area of 100 kr? the maximum average
depth for a 3 hour storm will be

(a) 100mm

{0} more than 100mm

{c) less than 100mm

{d)} noneof the above

I the coefficient of variation o rainfali value at4
raingauge slations 1s 30% and permissible error

in the gst yation of mean rainfall is 10%, then
the addi:»al number of raingauge slations
required ivi e catchment is
@ 3 ) 4
{cy 5 {d) 9

Q.23 The follcuing rainfall data relers lo slations

Aand B ivch are equidistant from station "X
Siatlon "A°| Staton X | Station "B
Loag-term noial 200 250 300
annun| ratafoll
{nmm}
Annual rainfad £ mm) 140 I3 270
for the yoar 1643

The valuz of P(in mm) will be
{a) 250 (o) 220
(¢} 205 {dy 200

Q.24 Mateh List-i with List-Il and select the cortect
answer ys'ng 1he codes given below the lists:

List-

Teop =4l eyclong

Frond

Anticyslone

Caonvsclive precipitation

List-if

High prassure region with clock wise winds

in noriretn hemnisphere

2, Local phenomenon at heating and formalion
of circulation cell

3. Inmerface between two dillerent air fhasses

4, Stong depression vilh anticlockwise winds
in northern hemisphere

5. Eflect of mountains in liliing air
masses

Codes:

com»

-

@ 4
b} 4
© 1
{dy 4

[FAREA RG]
P G ¢ |
woNn oD

n

Q.25 Mateh Ligt-1 {Type of rain gauge) with List-t
{Characteristic} and selecl the correc! answer
using Ine codes given below the lisls:

Q.26

Q.27

Q.28

List-l

Tipping buckel type

Weighing bucket lype

Symon’s gauge

Nalural siphon lype gauge

List-Il

1. Standard recording lype rain gauge adopted
inIndia

2. Givosintensily of the rainfall

3. Gives mass gurve of rainfall

4. Nontecording gauge

gow>

Codes:

A B COD
fad 3 3 4 1
M 2 3 4 1
€} 3.2 4 1
@ 2 3 1 4

Study Ihe lollowing statements:

. 1. Cyclonic precipilation is caused by the

lilting of an air mass due lo the pressure
dilferenca,

2. Convectiva precipitalion is caused due lo
the upward movemenl of lhe air that is
warmer lhan its surraundings.

3. Crographic precipilation is caused by air
masses which strike some natural
lopographic barriers like mountains, and
cannot move forvard and hence rise up,
causing condensalion and precipilation,

The corcect slatements(s) is(ara):

(a)only 3 {byboth tand 2

{c)bolh 1 and 2 {dy1.2and 3

The standard Symons’ type raingauge has a
collecting area of diameter

{a) 127cm {b) 10cm

{c) 5.08cm (d) 25.4cm

The slandard recording raingauge adoptad in
India is of

{a) weighing buckel lype

{0} natural siphon lype

{c) lipping bucket type

{d} lelemetry lype

Q.29

Q.30

Q.01

Q.32

com»

Q.33

The variation of rainfall between (wo sections in
Isohyelal melhod is assumed .

{a) Linear {b) Parabolic

{c) Elliptical {d) Mon-linear

A river basin is divided into three Thiessen
polygons with areas in the ratioof 0.45, 0.30 and
0.25. A rain slorm causes precipilation in these
polygons as 38 mm, S5 mm and 42 mm
respectively, The average deplh of precipitation
for the basin is
(a) 45.0mm

{¢) 48.5mm

{b) 44.1mm
(d) 46.0mm

Symon's rain gauge is of lype:
() recordingtype

(b) nonwecording type

(c) may be bolh (a) and (b)
(d) indicaling type

Match the items in List-1 (Insiruments) and List-1l

(ltems (o be measured) using the codes oelow:

List-1

Tipping buckel gauge

Indian Standard Pan

Lysimeler

Rainfall simulator

Lisl-11

Infiftration intensity

Evapotranspiration

Rainfalt

. Evaporation

The correct code is

Codes:
A

B N

@)
o)
()
{d)

W = =
[N TN L RN (A o4 ]
EE S S SH o
- Www -0

A, B and C are three calchments each having
an area of about 10,000 km” situated in an arid
zone, mountainous region of a lropical zone and
{lat region of a tropical zone respectivaly, The
desirable number of hydrometeorological stalians
for each of these three areas M, N and M.
respectively will be such that



Q.34

Q.35

Q.36

Q37

Q.28

Q.38

Q.40

(a) N> N> N,
B) Ny« Ny <N,
€ N, > Ng> N
(d) Np=N;and Ng»> N,

For a given storm, the highest raintall £ and the
]

avarage cainfall depth B, are related as e
: (]

(a} Kexp (A7
(c) K*

(D) exp (-Ka")
(d) constant

Thermo-hygrograph gives a conlinuous recording
of

(a) discharge on a \hermal sensilive paper
(b) temperature and pressuré

{¢) temperature and humidity

{d) solar radiation and wind velocily

Instruments for measuring the intensily of
incorning radialions are called

{a) pyrheliomelers

(b} sunshine recorders

{c} hygromelers

{d) psychrometers

The relajionship betwesn wind directian and
pressure gradisnt is stated as loflows:

Il an obsesver stands wilh his back 1o the wind
in the northern hemisphere, the lower pressure
is

() on his lelt (b} on his righl

(c) in feont of him {d) to his back

A rainlall with an intensity of 5mm/his classilied
as

(a) traces

{c) moderatarain

{b) lighl rain
{d) heavy rain

A precipilation in the Torm of waler droplets of
size less than 0.5 mm and inlensily less than
1 mmyh 15 known as

{a) Rain (b) Sleet
(c} Hai (d) Dnzzie
The Indian Meleorclogical Depariment has

changed over fraom Symon's, gauge o fibre
glass raingauges ol lwo sizes. The collector areas
ol Ihese gauges are:

Q.;da

" Qlaa

(a) 1000 cm? and 500 em?
{b) 400 cm? and 20 cm?
{c) 200 cm? and 100 cm?
{8) 100 em? and 50 cm?

In installing a raingauge nelwork, the relevant

indian Stardard racommends that

{a} lhe densily of gauges should be more in
plains than in hills

{b) in regions having an average elevalions of
1000 m, at least one station per 130 km?
is desired

{c) alleas! 50% of raingauge slations should
be of reco:dlng lypo

(d} alleast 10% of raingauge slations should

‘e of recording type

1lp'is tho precipitation, 'a"is the area represented
by a rain gauge, and 'n’ is the number of rain
gauges in a catchment area, then the weighted

_msan tainfall is

zap® }:ab
@) o7 b —
Tap Zap®
© {d) Py

Mean precipilation over an area is best ablained
from gauged amouns by

(a) arithmelic mean method

(b) Thiessen method

{c) linearly imerpolated isohyetal methad

{d) orographically weighled ischyatal method

Which one of the lollowing defines Aridity Index
(Al)?
PET - AET

(@) Al = -——I;T'_'_T_xmo
'PET
Al = —— x 100
® N=gEr*
{©) A|=£-gx100
© Al:ﬂz—}%ﬂxlm

(where AET = Aclual Evapoiranspitation ang
PET = Polential Evapolranspiration)

Q45

Q.46

Q47

Q.48

Q.49

Q.50

Q.51

Which ong of the following is not a maijor type of
slorm precipilation?

{a) Frontal storm

{b} Air mass slorm

{c} Crographic storm

{d) Continental storm

The least accurate method of computing mean
depth of rainfall is

{a) Thaissen polygen method

{b) (schyelal methog

{c} Arithmetic mean method

{d) None of the above

Isobar is a line which joins the points of equal
{a) rainfah depth

(b} l'emperature

{c} humidity

{d) atmospheric pressure

Which is the odd one in the {olloving?
{a) Snow {6} Sleer
{c) Rain {dy Hail

Coellicienl of variation Is given by
(@ Standard dev:almnx 100
Mean

‘Variance

tMean
Mean

Standard deviation
Meao 400

Variance

(b %100

{c)

(0}

According to Indian Standard, she numbar of
raingauge stations for an area of 5200 km? in
plains should bhe
(a) 10
© 20

L) 15
{0) %0

Which of the following type of raingauge is used
for measuring rains in rgmote, hilly inaccessible
arcas?

{a) Tipping buckel type

(b) Weighing type

(c} Floating Iypé

{d) Symon's raingauge

Q.52 The normal annual rainfail al stations A, Band C

siluated in mztecralogically homogenecus region
are 175¢m, 180cmand 153 cm respectively. in
the year 2000, staton 8 was inoperative and
stations Aand C recerded annual precipitations
of 150 cm and 135 cm sespectively, The annual
rainfall ai station Binthat year could be esltrmuzd .

to benearly
{8} 150cm {b] 143cm
€} 158¢cm {d) t168cm

0.53 Ananticyciong is

(a) alow pressure systemwithclockvise w:nds
innorthern hemisphere

{t} =2 high pressure system with ciockwssef,f
winds in northern hemisphere

e} =2 low pressura system with snnclnckwsse
winds in norhern hemisphere

{d} ahigh pressure syslem with anticlockwise
vinds in northern hemisphere

Q.54 During June 1984, reservoir had an average

surface area of 20km? In thatmonth, mean rate
of inflow = 10 m?s, outllow = 15 mYsec, monthly
rainfall = 10cm and change in slorage = 16Mm?,
Assuming seepage losses to be 1.8 cm, the
evaporation in monih of Jung is;

(& 11.21em {b) 23.40¢cm

{c} 20.42cm {d} 31.20cm

Q.55 Thenormal annualprecipitation of ﬁva«ai:igaugé:

slations A, B, C. D and E are respectively 125, -
102, 76, 113:2nd 137 cm. During particular siorm,
the precipitation recorded by stations 4, B, C
and Dare 13.2,9.2, 68 and 10.2 cmrespeciively.
Theinstrument al station Ewas inoperalive during
that storm, The rainfall at station £ during storm
is: :
@ 11220mm
€} 128.60mm

{b) 118.60mm
(d} 114.20mm

Q.56 The mean of normal annual rainfall for 5 stations”

is 82.8 m and swandard deviation is 30.7. The
optimum number of raingauge stations (o fimit
the error inthe mean value of rainlall (o § = 10%°
is: :



) 9

@8 b} 10
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Q.57 Duting the month of 30 days, the average lass

(seepage)fromihe 1375 ha reservoir was 25cm,
total precipitation on the reservoir was 18.5cm

- andotal evaporation was 9.5 cm. The conslant

. {8} 3.291msec

rate of withdrawat from the reservoir in 30 days

during which reservoir level dropped by 0.75m
in spite of average infiow into the reservoir of
0.5 Mm3iday is

{0} 5.201 m¥sec

{c} 2.192mfsec (g} 6.191m¥%sec

Precipitation

1.0 2() B () 4l 5 {9
i1, (a) 12, () 13. () 14.(a) 15. (0)
21.(c) 22 (c) 23.(d) 24.(6) 25. (B)
3l (o) 2. (a) 33.(a) 34.(0) 35. (o)
4. (d) 42 () 43.(d) 44.{a) 45 (d)
51.{a) 52.(c) 53.(B) 54.(6) 5. (c)

Preclpitation

10.

11,

i2.

(a) e
- 1-(1--%)&
= 0454

{a) g

1-(1_2_‘0]33

= 03973

“ 1Yr50Y"°
- %6{g5) (&)
= 0.3071

0,58 lsohyelal methad gives accurate mean areal

depth of rainfall in;

Ina plaincountry. )

In a genily sloping basin,

In an undulaling country. ;

in place of known storm mavement.
When there are oplimum number ol
rainguge slations.

6. When the precipitation includes snowmalt.
7. Inbasin consisting plains and hills.

fa) 3,4an37only {b) 1.2 3and 5only
{c) 3,4,EandBonly {d) Allofihe above

LA S

AmEN
6.(b) 7.{d) &) 9.(b) 10. (&)
16. {a) 17. {c) 18.(b) 19. (¢) 20.(m)
26. (d) 27.(a) 28.{b) 29.(s) 30.({b}
36. (a) 37.{3) 3B.(c} 39.({d) 40.(c)
46. (c) 47.(d) 48.(c) 49.(a) 50.(e)
56. (d} 57. (d} 68.{a)
17; {c)
N[P P P
_ Bofs0 5 70
= P B R
= 80cm
18, {c)

P, ={45 + §5)2=50cm
£,= (55 + 65)/2=60cm
- Average depih of annual precipilation over
the basin af 250 kin?.
:‘_ﬁ '
TOE4

20.

21.

22.

23.

28.

_ 50x100+60x 150

T T (100 +150)

= 56cm
(a)
1] 700 700 Y
atm!1m+ﬁxw*ﬁxm]=7ﬂmm
{c)

)
Maximumdepth far a given storm decreases with
the area the maximum depth increases with
duralion,

(c)

Additional number of stations

( Ceolficient of variation ]2

Allowable percenlage of error
- Existing number of slaliens

- (@)z-ua

10
(d)

250140 270 -
= ?[?oa*eoo]" 20¢mm

{b}
Tipping Bucket Type: Such gauges are!

-generally installed in hilly and inaccessible aren.i

{rom where (hey can supply their measuremenlsi
directly tothe conirol room at meteorogical;
slation. '

Welghing Type: Weighs the rain which falls intoj
a bucket placed on the plattorm of a spring or.
lever balance. The increasing weighl of the!
huckel helps in recording the increasing quantily;
of collected rain, with lime, by rmoving a pen oni
arevolving drum, |

Symans' Gauge: A non recording raingauge. 5

Natwral Syphon Type: A lloal lype gauge.|
provided wilth a sell slarting syphonic,
arrangement is most widely used in India; and
is population known as Nalural syphan recordingf
taingauge, '

27.

29,

a0.

31.

(8)

The non-recording gauge extensively used in
India 1s the symon’s gauge. It essentially
consists of a circular collecting area of 12,7 cm
diameter connected 1o a funnel.

(@)

The vanation of rainfall Detween two seclions in
isohyetal method is assumed linear. If P, and £,
are the isohytels then

P+h
Paa = =5
(Assuming linear varialion)

(b}
Here, % = 0.45and P, =38mm

A

A c 0.30and P, =55m

A

71‘— = 0.25and P, = 42 mm

The average depth of precipitalion for he basin
is given by

A
e (ol ()
PM = 33x045+55»%0.30+12 x 0.25
P 44.1mm
Hence option (b} is correct.

np

{b)

Syrmon's rain gauge is non-recording lype rain
gauge.

n

1]



32.

36.

38,

3s.

40,

(a)

Tipping bucket gauge'is a recording lype rain
gauge

‘IS| standard pan'is used lo measure
evaporalionloss

'Lysimstes’ is used lo measure actual

" evapolranspiration in the field,

‘Ralnfall simulator’ is a device used lo calculale
infiftration capacity.

Hence oplion {a) is correct.

(e}

Hygrometer is an instrument used for measuring
the moisture conlent in Ihe atmosphere,

A psychromeler measures the refalive humidity
in the atrosphere.

{c)
On (he basis ol its intensity, rainfallis classified as:

Typo ‘ Infansity
Y. Ughten Traen to 2.5 v
2. Moderalo rain 2.5 mavhr to 7.5 mmiv
J. Heawy mia > 7.5 mmhr

(d)

The rainiall is used 10 describe precnpnauons in
lhe lorm ol water drops ol sizes larger than 0.5
mm. Sleel is frozen raindrops ol transparent
grain which lorm when rain falls through air at
sublreezing lemperalure, Hail is a showery

. precipilation in the lorm of irregular pallets or -

lumps of size mare than 8 mm. Drizzle is a line
sprinkle of numeraus waler droplets ol size less
than 0.5 mm and intensily less Ihan 1 mmé.

{c)

The Indian Mateoralogical depanment(lMD) has
changed over to the use of fibre glass reinforced
palyester raingauges, which is an improvement
over lhe syslem gauge. These come in diflerent
combinalions of colleclor and botlle. The
colleclor in lwo sizes having areas of 200 and
100 crm? respeclively.

43,

54,

(d}
tsohyels are conlours of equal raintall, The
orographically weighted isohyels are prepared

~ by Yracing paper for mounlainous areas and

therefore they are more accurale than lingarly
interpolaled isohyels

(a)

The depariure of Al fromits corresponding normal

value is known as Al anomaly, represents

maisture shorlage. Based on Al anomaly, the
intensity of agriculiural drought is classified as
follows:

Al snomaly Sovarlty closs
© 125 Fild and
26-50 Moderato and
>50 Sowpra add

(a)

" In plains 1 slation per 520 km? is recommended.

{c) )
N[A B
F= 2[N1 ]
@[3_&@]
2 1175 150

90[150+1:35}
= 25 [

1

L
N
[+
-~
[s2}

_ 1g[180+189] _18x368
= a2 |7 a2

= 3"7369 = 158,14 cm ~ 158.cm

(&) ]
Inflov: = 0% 60 % 60 x 24 x 20

! = 25.92Mm? '

Quillow = 15 % 60 x 60 x 24 x 30

= 38.88 Mm?

‘ 10 »
Rainlalt volume = [ﬁ] x 20x (1000)

= 2.00 Mm?

&8,

56.

18 2
Seapage = (1m)x20x(1m))

= 0.36Mm?
Change in volume = (25.92 + 2.00-38.88 -0.26)
= -11.32 Mm?
Actualchange = -16.0 Mm?
Hence evaporalion = 16.00- 11.32 = 4.68 ¥m?

488 10% x 100
20 10°
=23.4cm
{c} ,
N[AR B B A
R R
, _137[132 92 68 102
.= [125*102*7_6*‘175]
= P = 128,60 mm
(d)
. c, z .
WBRHOW, W= -5‘ where

N = oplimum number of raingauge stations 1o be
eslablished

C,= coemclem of variation of rainfall of existing
ramgauge slation,

p = deslred degree of percentage error.

C ()
= C=31%

el

§7.

58.

(d}
Pariod, &t = 1 month = 30 days

Input volume = PA+TAl
Output volume = Al +{G+ E+ A ,
PA+TAl-[GM4+G+E+TIA] = change m
siorage = AS

185 1375x10°
=3 PA: 100 X—T

= 25438 Mm?
Tola! Inpul volume = 17.5438 M@

1375 % 10"

’ 1
(G+E+NA= (25+9‘5+0}xﬁx e

= 1.6 MY’

1375 % 10

AS=SZ-33= G.?ﬁ.‘ﬁ! 105

= 0.1031 Mm®

Oat = [PA+Tall-AS-{G+E+TIA
= 17.5438 + 0.1031~ 1.60

= 16.047 Mm?
Constanl Rate o vithdrawal =
~ 16.047 x 10° 3
0 = Bxzxeoxes M
(8)

isohyetal method o determine the mean depih
ol rainfall is valid for undulating area and the plaoe
of slorm movement,



